Math 153 - Quiz 8 Name __Key
November 1, 2012 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (6 points) In a certain town, 63% of the children dress as vampires on Halloween.

(a) In asample of 10 randomly selected children, what is the probability that at least
7 are dressed as vampires?
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(b) How many vampires would you expect in a sample of 10?7
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(c) In a sample of 10, what would be an unusally small number of vampires? Show
work to justify your reasoning. '
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2. (4 points) In the United States from 1850 to 2000, there were an average of 17.93
hurricanes per decade.

(a) In any given decade, what is the probability that 12 or fewer hurricanes affect the
United States?
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(b) In the 1880s, the US was hit by 27 hurricanes. Is this an unusually large number
of hurricanes in a decade? Show work to justify your reasoning.
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